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1. Choose the correct answers from the given options (All questions are compulsory) :

(a) CFC is a gas responsible for

(, Greenhouse Effect

(ii) Ozone Depletion

(iii) Both the Greenhouse effect and Ozone depletion

(iv) None of the above.

(b) Mission Life was introduced in the year

(, 2000 (ii) 2011

(iiD 202t (tv) 2024.

(c) When we talk about Sustainable Development, we wish to

(, stall the development.

(ii) have more economic benefits for prolonged periods of time.

(iii) use the resources most wisely and fetch long-term benefits.

(rg stop using natural resources.

(d) An insect can never be

(, a producer of ecosystem (ii) primary consumer of ecosystem

(iir) secondary consumff of ecosystem (iv) tertiary consumer of ecosystem.

(e) Which of the following statements is correct?

(i) l0% of the energy in a trophic level are transferred to the next trophic level.

(i, 100% of the energy in a trophic level are transferred to the next trophic level

(iir) 50% of the energy in a trophic level are lost due to respiration.

(iv) l0o/o of the energy in a trophic level are lost due to respiration.

(f) Which of the following is Not a problem triggered by deforestation?

(r) Land loss due to erosion (ii) Climate change

(iii) Photochemical smog formation (iv) Man-Wildlife conflicts.
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(g) If Climate Change : IPCC, then Biodiversity : ?

(i) rucN (iD UNFCCC

(iiD UNICEF (iv) UNESCO.

(h) lf ex-sitr.r conservation: Zoological Garden, Ihet in-situ conservation : ?

(D Gene Bank (ii) National Park

(iii) Museum (iv) Botanical Garden.

(i) BOD is a measure of
(i) Water pollution (ii) Air pollution

(iii) Noise pollution (iv) Soil pollution.

0) Wind energy is a type of
(i) Renewable energy resource (ii) Non-renewable energy resource

(iii) Bio-energy resource (iv) Hazardous energy resource.

2. Answer any ten questions :

(a) What is Sustainability concept?

(b) Mention any four disciplines which are allied with the environmental science.

(c) Why is coal a non-renewable energy?

(d) What is ecological succession?

(e) Define Ecological pyramid of number.

(0 Give any two examples of conflicts over water in India.

(g) What do you mean by endangered species? Give one example.

(h) What is Species diversity?

(i) Give four examples of green energy resources.

0) What is Biopiracy?

(k) What is Biomedical waste? Give two examples.

(1) What is ozone hole?

2x10

3. Answer any foar questions :

(a) What do you mean by sustainable development goals? State any two sustainable development
goals. 3+2

(b) "Use of renewable energy promotes sustainable development." - Justifr the statement. 5

(c) What is a food chain? Briefly explain the energy flows through food chain. 2+3

(d) Write a short note on Marine Pollution. 5

(e) Write the impacts of Global warming on agriculture and human well-being. 5

(f) What is endemism? Why India is a megadiversity country? 2+3
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